TEST PROGRAM FOR TWENTY WLD UNITS ... 1985

0001 REM ##% TEST OF TWENTY(20) WLDs ##+ FEBRUARY 1985
0002 LET F=0:LET G6=0

0003 DIN A(20)

0004 DIGITS= 0

0005 PRINT "PLEASE ENTER DATE CDYNO1 :";

0006 INFUT D$

0007 LET Y$=LEFT$(D$,2)

0008 LET N$=RIGHT$(D$,2)

0009 LET DY=VAL(Y$):LET MO=VAL(N$)

0010 PRINT "FLEASE ENTER TIME LCHHMH1 :";

0020 INPUT T$

0030 LET H$=LEFT$(T$,2)

0040 LET H$=RIGHT$(T$,2)

0050 LET HR=VAL(H$)

0060 LET RI=VAL(H$)

0070 ACT AI(1,32)

0075 PRINT "#";

0080 ACCEFT #1

0090 WHEN #9,(5,7)KE(1,1)<" " GOSUB 200

0100 LET W=HI

0110 IF W=0 AND F=0 THEN F."F":LET G=1:ACCEFT #1:60T0 590
0120 IF F=1 AND W<:0 THEN F=0

0125 IF HD=2 AND DY=29 THEN HO=3:LET DY=1

0130 GOTO 100

0200 IF LENCKB(1,1))>2 OR KB(1,1)="" THEN ACCEPTH#1:PRINT "INPUT ERROR™:PRINT "H";:WHEN H9,(5,7)KB(1,1)<>" " GOSUB 200:RETURN
0205 IF LEN(KE(1,1))=0 AND VAL(KB(1,1))=0 THEN ACCEPT#1:G0TO 260
0210 IF LEFT$(KE(1,1),1)="T" THEN ACCEPTH1:G60TO 300

0220 IF LEFT$(KE(1,1),1)="P" THEN ACCEPT#1:60T0 590

0230 IF VAL(KB(1,1))30 AND VAL(KB(1,1))<21 THEN X$=KE(1,1):ACCEPT #1:60TO 800
0250 60TO 750

0260 WHEN #9,(20,7)KB(1,1)<>" " GOSUB 200

0270 RETURN

0300 PRINT "DATE : ";DY;"/";H0;"/1985"

0310 FRINT "TIHE : "jHR}"/";MI

0320 PRINT "#";



0210
0220
0230
0250
0260
0270
0300
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0330
01333
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0390
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0825
0830

IF LEFT$(KE(1,1),1)="T" THEN ACCEPT#1:60T0 300
IF LEFT$(KB(1,1),1)="P" THEN ACCEPT#1:G0T0 590
IF VAL(KB(1,13)20 AND VAL(KB(1,1)3<21 THEN X$=KE{(1,1):ACCEPT #1:60T0 800

6070 750

WHEN #9,(20,7)KB(1,1)<" " GOSUR 200
RETURN

FPRINT "DATE : ";DY;"/";HOD;"/1985"

PRINT "TINE : "jHR;"/";HI
PRINT "#";

WHEN #9,(20,7)KB(1,1)<>" " GOSUB 200
ACCEFT #1

RETURN

PRINT H2:LET F=1

IF #0=2 AND DY=29 THEN MO=3:LET DY=1

PRINT #2,"DATE :"jDY;"/";HO;"/1985"," TINE :";HR;"/";N1
FRINT #2

LINE= 130

FRINT #2,"PROBE:";

FOR X=1 TO 20
PRINT #2,TAB(&#(X+1)) X}

NEXT X

FRINT #2

PRINT #2,°V0LT5:";

FOR X=1 TO 20

LET A(X)=AI(X)

IF A(X)<0.34 THEN A(X)=0

DIGITS= 2

PRINT #2,TAB(A*(X+1));A(X)%0.3;

NEXT X i

PRINT #2:FRINT #2

DIGITS= 0O

FRINT “#";:ACCEFT #1

IF G=1 THEN G=0:GOTD 100

UHEN #9,(5,7)KBC1,1)<:" " GOSUR 200

RETURN

PRINT "INPUT ERROR”:PRINT "#";:ACCEPT #1:60T0 260

REM #%+ PRINT INDIVIDUAL YOLTS READINGS TO CONSOLE" %%+
FRINT “PROBE "j;VAL(X$);" --> ";:DIGITS= 2:PRINT (AI(VAL(X$))%0,3):" VOLTS"sPRINT "#";:DIGITS= 0
IF G=1 THEN 825

WHEN #9,(20,7)KB(1,1)<>" " GOSUE 200

ACCEPT #1

RETURN



